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1 |3-2052| Kith B |[#EBEXE KX 8m92 8m60 9m08 9m08 3
2 | 485 | EiR % |&ES 6m99 7m63 7mA45 7m63 6
3 | 490 | #AK =B S 8m15 8m10 8m17 8m17 4
4 |3-2054| B =% |[HEXFEK 10m36 10m35 9m54 10m36 1
5 | 489 | HE H |ES 7m94 7m76 7m86 7m94 5
6 21 | BB {EHR |ESER 9m19 9m27 9m65 9m65 2




_ﬂg.

BEREF AR

HE[t-] K & | B ® EE 2EH 3EH & i
1 1 & /& |[s—sHrXEBAC @) @) X 20m62 8
2 14 | IR R [WAXK O O O 34m50 4
3 | 489 | HE Hh |HES O O O 29m69 D
4 15 | B8 & [MARKZE O X X 37m33 2
5 [3-2052| Kith B |ERRESXFIKE X O @) 32m89 5
6 2 | B8 fE— [5—3fAvXEBAC @) O @) 23m16 7
7 | 490 | K EH (HES X O X 26m19 @
8 20 | REH Kith (AKX @) X @) 35m05 3
9 | 3120 | HH #ME |HEEHE O O O 38m60 1
10 | 21 | B {EH |ESER X O X 32m71 6

—-EREF ©UE

BE[t-] B & | m B IEE 268 3EIH BE_& IR
1 [3-2051| RiL #W# |#EBXFKFE F 41m78 40m36 41m78 4
2 2 | BE B— |2—SHUXEEAC 40m18 40m77 40m26 40m77 5
3 | 3250 | /iR ERR |FEEREIZEX 28m44 34m34 33m87 34m34 6
4 8 | A & |ZHAER 42m38 46m69 45m34 46m69 2
5 | 489 mE A |ES 32m36 33m80 26m82 33m80 7
6 | 490 | #a K B S 28m85 28m61 30m05 30m05 8
7 | 508 | B & |HES 45m91 40m50 39m60 45m91 3
8 [3-2052| kit B |BIYXEKF 44m33 47m56 45m21 47m56 1




F2EPFVCREERE THERZE

H H Bzl [ X 12 [RECC) |EBE(%)| B [ [EiE(m scc)

7818 10:00 551 20.0 81 FArA P 1.8
11:00 55 19.0 81 JtibE 15
12:00 55 18.5 95 Bl 0.4
13:00 =1l 18.5 90 it 0.3
14:00 55 18.0 95 i 0.0
15:00 55 19.0 86 it 0.08
15:30 551 18.5 95 Jtdt 0.3
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